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Figure 1
Figure 1 shows a sketch of triangle ABC with AB = (x + 2)cm, BC = (3x + 10)em,
AC = Txcm, angle BAC = 60° and angle ACB = ¢°
(a) (i) Show that 17x* —35x-48=0
3)
(i1) Hence find the value of x.

(D

(b) Hence find the value of  giving your answer to one decimal place.

(2)
Hese 10e have cmalc hate all Horee codes asve ?&o&.

‘ ,{hm oJ'z, Tlese S also ore ewnsle | wewbm :
| R . The covine rede Cwvolves all 3 ¢ides crcl ovetegle
;E_a(u) : BC™ = AR+ Ac* — AR AL cog bo®

(3o +ie)a (D™ H{ToF = 2(x4+DC1x) ¥ Yo cosbo =
Qo™ +607e 4100 = " +lhx+ L #4q2> = T2*— (4
2t (- 1=t +7) +x (LO-4+14) + 5D -4 =0
= 34x* + Tox +49b =0 |
Drnde 72 od change Sign Huougheuk [Tx*-26x-48 =0

() Tues frchiges (5x-D(Tx+6) <0 . A -ve auswofese
s W;W' sO0 X =3

() Mow ot buve ol He 5es owd 4sd oottt cingle. So

use Saae nde .
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